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https://www.100test.com/kao_ti2020/640/2021 2022 _GRE_E7 BD
_91 E7 BB 9C_E8 86 _640505.htm Passage 1 Four women-G, H,
|, and J-and four men-R, S, T, and U-are the eight people to be
seated at a rectangular table. Three of the people are to sit on one side
of the table, three are to sit on the other side of the table, one is to sit
at the head of the table, and one is to sit at the foot of the table. The
following restrictions on seating arrangements must be
observed:Persons of the same sex cannot sit next to each other on the
same side of the table. The person seated at the foot of the table
cannot be the same sex as the person seated at the head of the table.T
cannot be seated on the same side of the table as .U cannot be seated
on the same side of the table as J.1. If U is seated at the head of the
table and I is seated in the middle seat on one side of the table, which
of the following must be true?(A) J is seated at the foot of the
table.(B) R is seated at the foot of the table.(C) G is seated on the
same side of the table as I.(D) S is seated on the opposite side of the
table from I.(E) T is seated on the opposite side of the table from 1.2.
If J is to be seated at the head of the table, each of the following could
be seated at the foot of the table EXCEPT(A) H(B) R(C) S(D) T(E)
U3. If Sis seated at the foot of the table, U is seated in an end seat on
one side of the table, and | is seated in an end seat on the other side of
the table, where must T be seated?(A) At the head of the table(B) In
the middle seat on the same side of the table as U(D) In an end seat
on the same side of the table as U(D) In the middle seat on the same



side of the table as I(E) In an end seat on the same side of the table as
14. If T is seated at the head of the table, R is seated in the middle seat
on one side of the table, and | is seated in the middle seat on the
other side of the table, which of the following can be true?(A) G is
seated at the foot of the table.(B) H is seated on the same side of the
table as 1.(C) J is seated on the same side of the table as I.(D) S is
seated on the same side of the table as R.(F) U is seated on the same
side of the table as R.5. If T is seated at the foot of the table, U Is
seated in the middle seat on one side of the table, and I is seated in
the middle seat on the other side of the table, which of the following
must be seated at the head of table?(A) G(B) H(C) J(D) R(E) S
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